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Write the equation below in Given the graph, write the Write the equation below in Given the graph, write the
slope-intercept form. equation in slope-intercept form. slope-intercept form. equation in slope-intercept form.
i@ E o o '
L 4x—y=-6 ot Skt “@+2y=6 I \. u
T N
-y=-Ux-b ot 2y= -Hx+l i Nae
2}t ] i
- N 2 ¥
~6—5 4 -3 -4 -0 3 4 s
SN b BRI . "2x+3 5
U = Ll X +b . / | 3— la
' AN
A 1 k! $
Answer: \3 = L’X + ID ANnswer: \A|7 L‘X “'b Answer: W= “2x+3 Answer: __ 4= 2%+
)  J

Given the point and slope.
write the equation in
slope-intercept form.

Given the two points, write the
equation in slope-intercept form.

(-1, 2) and (2, 14)

Given the point and slope.
write the equation in
slope-intercept form.

Given the two points, write the
equation in slope-intercept form.

(-3, 9) and (4, -5)
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Rewrite the equation in slope-intercept form. Identify the m and b, then graph!
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